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HLOfE jEE b - RLo ] /AJ:EF'AIE% AN ;J:*”Eﬁ% %ji x A . T4 [A A 1HMSDEE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K ﬁﬁ(j;f)i (%O%kj:; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 3 3 7 42.9 3 7 42.9
BEHET 56 3 59 7 83.1 59 71 83.1
EE5; 19 16 35 22|  159.1 35 22|  159.1
A H 22 267 289 195 148.2 289 195 1482
AN 32 12 13 12 69 16| 4313 69 16| 4313
VA 19 8 36 1 64 41 156.1 64 41 156.1
=7 22 17 3 42 26] 1615 42 26| 1615
=S 15 2 7 24 17| 1412 24 17 1412
H g 2 137 39 95 10 283 186 152.2 283 186 152.2
AR 5 64 13 82 77| 1065 82 77| 1065
=P 7 11 565 71 840 15 1,509 963| 156.7 1,509 963|  156.7
UDKZ 77 A 4 3 7 71 100.0 7 7] 100.0
D [E| PE 2 1 13 16 16|  100.0 16 16|  100.0
i) A H 31 14 18 63 63| 100.0 63 63|  100.0
&t (E) 81 23 857 147 1,343 0 78 16 2,545 1,707  149.1 2,545 1,707 1491
ATAER A 5 (F) 36 6 569 97 952 33 14 1,707
W k. E/F %| 2250 383.3 150.6 151.5 141.1 | #DIV/0! 236.4 114.3 149.1
ai A & (G) 84 513 159 659 90 35 1,540
Wt E/G% 96.4 | #DIV/0! 167.1 92.5 203.8 | #DIV/0! 86.7 45.7 165.3
LA DD B E (H) 81 23 857 147 1,343 78 16 2,545
ARG (1) 36 6 569 97 952 33 14 1,707
F e H/T% 225.0 383.3 150.6 151.5 141.1 | #DIV/0! 236.4 114.3 149.1
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 8 8 3|  266.7 11 10 1100
BEHET 57 10 67 103 65.0 126 174 72.4
EE5; 17 1 7 14 39 18 2167 74 40| 185.0
A H 22 323 345 219| 1575 634 414  153.1
AR 36 4 12 23 75 56| 1339 144 72| 2000
VA 1 18 9 28 1 57 61 93.4 121 102 118.6
=7 27 31 1 4 63 33| 1909 105 59| 178.0
=S 9 1 5 8 23 18 1278 47 35| 1343
HPE 12 169 58 124 12 375 281 1335 658 467 1409
AR 1 73 74 80 92.5 156 157 99.4
=P 13 633 62 789 19 1,516 1,239 1224 3,025 2,202 1374
UDKZ 77 A 6 6 6] 100.0 13 13  100.0
D [E| PE 5 12 17 10| 170.0 33 26| 126.9
i) A H 1 52 17 62 132 74| 1784 195 137 1423
&t (E) 95 6 979 170 1,448 0 83 16 2,797 2,201 127.1 5,342 3,908 136.7
ATAER A 5 (F) 53 13 796 147 1,109 69 14 2,201
M e E/F %| 1792 46.2 123.0 115.6 130.6 120.3 114.3 127.1
A A (G) 81 23 857 147 1,343 78 16 2,545
Wt E/G % 1113 26.1 114.2 115.6 107.8 106.4 100.0 109.9
LA DD B E (H) 176 29 1,836 317 2,791 161 32 5,342
ARG (1) 89 19 1,365 244 2,061 102 28 3,908
F e H/T% 197.8 152.6 1345 129.9 135.4 157.8 114.3 136.7
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 4 4 27 14.8 15 37 40.5
BEHET 157 16 1 174 82| 2122 300 256 117.2
EE5; 30 2 1 32 65 49| 1327 139 89| 156.2
A H 53 506 559 262| 2134 1,193 676| 1765
AN 54 6 32 53 145 99| 1465 289 171 169.0
VA 55 19 53 127 70| 181.4 248 172 1442
—7 63 3 61 1 128 81 158.0 233 140 166.4
=S 36 4 23 15 78 51 152.9 125 86| 1453
H g 3 3 369 81 231 19 706 396 1783 1,364 863|  158.1
AR 3 126 129 89| 1449 285 246| 1159
=P 24 10 911 154 1,150 22 2,271 1,268  179.1 5,296 3,470 1526
UDKZ 77 A 9 2 11 13 84.6 24 26 92.3
D [E| PE 3 2 21 26 17| 1529 59 43|  137.2
i) A H 4 100 16 107 227 147 154.4 422 284| 1486
&t (E) 163 25 1,711 329 2,254 0 146 22 4,650 2,651 175.4 9,992 6,559 152.3
ATAER A 5 (F) 112 26 937 156 1,301 106 13 2,651
W k. E/F %| 1455 96.2 182.6 210.9 173.3 | #DIV/0! 137.7 169.2 175.4
A A (G) 95 6 979 170 1,448 83 16 2,797
Wt E/G%| 1716 416.7 174.8 1935 155.7 | #DIV/0! 175.9 1375 166.2
LA DD B E (H) 339 54 3,547 646 5,045 307 54 9,992
ARG (1) 201 45 2,302 400 3,362 208 41 6,559
F e H/T% 168.7 120.0 154.1 161.5 150.1 | #DIV/0! 147.6 131.7 152.3
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 3 3 1| 300.0 18 38 47.4
BEHET 46 8 54 50/ 108.0 354 306 115.7
EE5; 7 4 1 6 18 19 94.7 157 108| 1454
A H 21 301 322 285 113.0 1,515 961 157.6
AN 16 2 4 12 34 34| 1000 323 205/ 1576
VA 41 9 54 1 105 42|  250.0 353 214 1650
=7 17 1 18 36 54 66.7 269 194 1387
=ESTED 10 4 3 17 17  100.0 142 103| 1379
H g 130 26 91 7 254 185 1373 1,618 1,048 1544
AR 2 100 102 57| 1789 387 303 1277
=P 4 8 643 66 883 18 1,622 522  310.7 6,918 3992| 1733
UDKZ 77 A 8 8 5/  160.0 32 31 103.2
D [E| PE 3 7 10 8| 1250 69 51 135.3
i) A H 42 15 25 82 89 92.1 504 373  135.1
&t (E) 45 14 942 126 1,483 0 50 7 2,667 1,368/  195.0 12,659 7,927| 159.7
ATAER A 5 (F) 41 12 423 97 743 47 5 1,368
W k. E/F %| 1098 116.7 222.7 129.9 199.6 106.4 140.0 195.0
A A (G) 163 25 1,711 329 2,254 146 22 4,650
Wt E/G% 27.6 56.0 55.1 38.3 65.8 34.2 31.8 57.4
LA DD B E (H) 384 68 4,489 772 6,528 357 61| 12,659
ARG (1) 242 57 2,725 497 4,105 255 46 7,927
F e H/T% 158.7 119.3 164.7 155.3 159.0 140.0 132.6 159.7
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 2 2 #DIV/0! 20 38 52.6
BEHET 48 5 53 68 77.9 407 374 1088
EE5; 15 1 7 23 10  230.0 180 118 1525
A H 24 189 213 255 83.5 1,728 1,216]  142.1
AR 23 10 19 52 19 2737 375 224 1674
VA 1 50 7 29 87 48] 1813 440 262 167.9
—7 24 1 23 1 49 53 92.5 318 247 1287
=S 11 8 6 25 15 166.7 167 118 1415
H g 5 134 47 95 11 292 267| 109.4 1,910 1,315 1452
AR 7 90 97 64| 151.6 484 367| 1319
=P 14 2 501 53 643 16 1,229 620 198.2 8,147 4612 1766
UDKZ 77 A 8 8 14 57.1 40 45 88.9
D [E| PE 2 3 5 10 5 2000 79 56 1411
i) A H 1 51 5 34 91 91 100.0 595 464 1282
&t (E) 80 3 839 131 1,110 0 62 6 2,231 1,529 1459 14,890 9,456 1575
ATAER A 5 (F) 40 6 564 87 808 20 4 1,529
W k. E/F %| 200.0 50.0 148.8 150.6 137.4 | #DIV/0! 310.0 150.0 145.9
A A (G) 45 14 942 126 1,483 50 7 2,667
Wt E/G%| 1718 21.4 89.1 104.0 74.8 | #DIV/0! 124.0 85.7 83.7
LA DD B E (H) 464 71 5,328 903 7,638 419 67| 14,890
ARG (1) 282 63 3,289 584 4913 275 50 9,456
F e H/T% 164.5 112.7 162.0 154.6 155.5 | #DIV/0! 152.4 134.0 157.5
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A—T)— El(lt)%J (2) %(?jﬁ ~ (4) 5 i )f) B (6) " ﬁﬁ(j;f)ﬂa: (%O%;E e PR | AB 9] A Q)R (D) €7D %
AN 1 10 11 4 275.0 31 42 73.8
L E T 58 3 61 95 64.2 468 469 99.8
H & 31 2 4 17 54 23 234.8 234 141 166.0
AR H 17 356 373 357 104.5 2,101 1,573 133.6
NN 47 2 10 19 78 48 162.5 453 272 166.5
VA 1 78 16 47 1 143 70 204.3 583 332 175.6
—7 23 5 28 2 1 59 63 93.7 377 310 121.6
=5 21 9 13 43 20 215.0 210 138 152.2
H P 168 48 145 11 372 378 98.4 2,282 1,693 134.8
AR 2 92 94 84 111.9 578 451 128.2
=k 13 1 557 64 909 11 1,555 1,092 142.4 9,702 5,704 170.1
UDK7 7 A 11 1 12 10 120.0 52 55 94.5
T Ofh[EPEH 1 6 10 17 6 283.3 96 62 154.8
i A\ . 3 83 6 27 119 110 108.2 714 574 124.4
&t (B) 128 5 987 162 1,617 0 81 11 2,991 2,360 126.7 17,881 11,816 151.3
AR H & (F) 69 12 793 168 1,262 53 3 2,360

W . E/F % 185.5 41.7 124.5 96.4 128.1 152.8 366.7 126.7

g A & (G) 80 3 839 131 1,110 62 6 2,231
Wt E/G % 160.0 166.7 117.6 123.7 145.7 130.6 183.3 134.1
1ABD G (H) 592 76 6,315 1,065 9,255 500 78] 17,881

ATAESGE (1) 351 75 4,082 752 6,175 328 53| 11,816

[ H/T% 168.7 101.3 154.7 141.6 149.9 1524 147.2 151.3
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AT — EI(1§% (2) %(S;EH B (4) K {%5 Jf) 3 (6) K ﬁﬁ(jf)i (%O%f; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 3 3 5 60.0 34 47 72.3
BEHET 136 136 72| 1889 604 541 111.6
H iy 18 2 13 33 40 82.5 267 181 1475
A H 14 386 400 401 99.8 2,501 1,974 126.7
AN 31 6 12 49 79 62.0 502 351 143.0
VA 66 9 43 1 119 140 85.0 702 472 1487
=7 11 3 17 1 2 34 37 91.9 411 3471 1184
=ESTED 15 1 10 7 33 26| 126.9 243 164 1482
H g 4 164 74 87 3 332 342 97.1 2,614 2,035| 1285
AR 1 96 97 103 94.2 675 554 1218
=P 28 3 698 145 1,279 20 2,173 1,420 153.0 11,875 7,124  166.7
UDKZ 77 A 9 2 11 9] 1222 63 64 98.4
D [E| PE 1 5 5 11 5| 2200 107 67| 159.7
i) A H 1 63 21 46 131 80| 163.8 845 654| 1292
&t (E) 107 4 1,153 270 1,957 0 64 7 3,562 2,759  129.1 21,443| 14575 147.1
ATAER A 5 (F) 74 5 877 202 1,545 51 5 2,759
W e E/F %| 1446 80.0 1315 133.7 126.7 125.5 140.0 129.1
ai A & (G) 128 5 987 162 1,617 81 11 2,991
Wt E/G% 83.6 80.0 116.8 166.7 121.0 79.0 63.6 119.1
LA DD B E (H) 699 80 7,468 1,335 11,212 564 85| 21443
ARG (1) 425 80 4,959 954 7,720 379 58| 14,575
F e H/T% 164.5 100.0 150.6 139.9 145.2 148.8 146.6 147.1




xS N =R G B (A= — )]

TRk244F8 H
0 fE| E Jeg i a‘ﬁ /J\?&@E /%\ i;é /J\’*”EE cﬁr;fji %& N FIAE [l ] A LD BBk

1% 1% i % \ 4% . ] N .
P 1) 2) 3) w | enl ® | © 9 H(B) |A/B %| A4 (C) | HitE (D) | C/D %
KA INY 2 2 2| 100.0 36 49 735
BLET 86 2 88 57| 1544 692 598|  115.7
EE5; 25 2 4 13 44 62 71.0 311 243| 1280
A H 5 215 220 282 78.0 2,721 2,256 1206
AN 52 21 19 92 86/ 107.0 594 437 1359
VA 39 10 20 2 71 71 100.0 773 543| 1424
= 16 1 15 2 34 73 46.6 445 420| 106.0
ZHESFD 20 6 7 33 35 94.3 276 199| 1387
HPE 2 143 55 62 3 1 266 252  105.6 2,880 2,287 1259
ARK 1 68 69 53 130.2 744 607| 1226
Ka# 9 6 396 105 943 13 1 1,473 1,251 117.7 13,348 8,375| 159.4
UDKT7 7 A 11 2 13 14 92.9 76 78 97.4
D [E| PE 3 3 14 20 15| 1333 127 82| 154.9
i) A H 1 43 14 61 119 90| 1322 964 744 1296
&it (B) 123 8 729 216 1,388 0 62 18 2,544 2,343 1086 | 23987 16918 14138
RTAER A 2 (F) 120 22 773 156 1,194 67 11 2,343
W e E/F %| 1025 36.4 94.3 1385 116.2 92.5 163.6 108.6
A A (G) 107 4 1,153 270 1,957 64 7 3,562
Wt E/G%| 1150 200.0 63.2 80.0 70.9 96.9 257.1 71.4
LA S0 B3 (H) 822 88 8,197 1,551 12,600 626 103| 23,987
RTAEZGE (1) 545 102 5,732 1,110 8,914 446 69| 16,918
W o H/1% 150.8 86.3 143.0 139.7 141.4 | #DIV/0! 140.4 149.3 141.8
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 1 5 6 4]  150.0 42 53 79.2
BEHET 143 6 149 89| 1674 841 687| 1224
EE5; 26 3 1 18 48 50 96.0 359 293 1225
A H 11 215 226 349 64.8 2,947 2,605 113.1
AR 55 4 26 44 129 61| 2115 723 498| 1452
VA 92 6 23 15 136 81 167.9 909 624| 1457
=7 15 17 2 34 54 63.0 479 474 1011
=ESTED 15 2 7 11 35 51 68.6 311 250 1244
H g 5 1 156 71 221 5 459 369 1244 3,339 2,656 125.7
AR 6 74 80 83 96.4 824 690 119.4
=P 10 6 443 104 831 20 1,414 1,641 86.2 14,762 10,016 1474
UDKZ 77 A 5 2 7 17 41.2 83 95 87.4
D [E| PE 1 2 23 26 25|  104.0 153 107| 1430
i) A H 2 77 16 31 126 139 90.6 1,090 883| 1234
&t (E) 119 16 944 231 1,423 0 117 25 2,875 3,013 954 | 26,862 19,931 134.8
ATAER A 5 (F) 99 11 1,099 185 1,497 104 18 3,013
Mt E/F %| 1202 145.5 85.9 124.9 95.1 112.5 138.9 95.4
A A (G) 123 8 729 216 1,388 62 18 2,544
Wt E/G% 96.7 200.0 129.5 106.9 102.5 188.7 138.9 113.0
LA DD B E (H) 941 104 9,141 1,782 14,023 743 128| 26,862
ARG (1) 644 113 6,831 1,295/ 10,411 550 87| 19,931
F e H/T% 146.1 92.0 133.8 137.6 134.7 135.1 147.1 134.8
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AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K ﬁﬁ(j;f)i (%O%kj:; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 6 6 7 85.7 48 60 80.0
BEHET 85 3 88 78] 1128 929 765| 121.4
EE5; 14 4 2 14 34 26| 1308 393 319 1232
A H 14 187 201 356 56.5 3,148 2,961 106.3
AN 23 1 7 26 57 36/ 1583 780 534  146.1
VA 48 19 18 1 86 86  100.0 995 710  140.1
=7 16 1 14 14 45 46 97.8 524 520 100.8
ZESTD 8 3 4 4 19 16 1188 330 266| 124.1
H g 8 92 56 119 13 1 289 283  102.1 3,628 2,939 1234
AR 4 52 56 75 74.7 880 765| 115.0
=P 12 413 77 907 9 1 1,419 1,534 92.5 16,181 11,550  140.1
UDKZ 77 A 5 5 9 55.6 88 104 84.6
D [E| PE 1 2 24 27 27|  100.0 180 134 1343
i) A H 1 42 22 58 123 95| 1295 1,213 978 1240
&t (E) 72 8 714 188 1,364 0 69 40 2,455 2,674 91.8| 29317| 22,605 129.7
ATAER A 5 (F) 61 11 938 169 1,396 75 24 2,674
Wt E/F %| 118.0 72.7 76.1 111.2 97.7 117.0 166.7 91.8
ai A & (G) 119 16 944 231 1,423 117 25 2,875
Wt E/G% 60.5 50.0 75.6 81.4 95.9 59.0 160.0 85.4
LA DD B E (H) 1,013 112 9,855 1,970 15,387 812 168 29,317
ARG (1) 705 124 7,769 1,464 11,807 625 111 22,605
F e H/T% 143.7 90.3 126.9 134.6 130.3 129.9 151.4 129.7




xS N =R G B (A= — )]

FR244E11H
HLOfE jEE b - RLo ] /AJ:EF'AIE% AN /,JTE% %ji x A . T4 [A A 1HMSDEE B
AT — EI(1§% (2) %(Sfﬁ B (4) K i )f) 3 (6) K ﬁﬁ(j;f)i (%O%j; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 0 2 0.0 48 62 774
BEHET 122 4 4 130 50| 260.0 1,059 815 1299
EE5; 25 1 1 18 45 39| 1154 438 358 1223
A H 14 153 167 258 64.7 3,315 3219 103.0
AR 36 2 19 18 75 80 93.8 855 614| 1393
VA 1 32 4 18 29 84 49| 1714 1,079 759| 1422
=7 16 8 1 22 47 67 70.1 571 587 97.3
ZESTD 25 5 7 37 33| 1121 367 299 1227
H g 3 86 65 136 10 300 281 106.8 3,928 3,220 1220
AR 1 55 56 82 68.3 936 847| 1105
=P 18 5 410 93 824 22 1,372 1,282 107.0 17553 12,832 136.8
UDKZ 77 A 4 10 14 10 1400 102 114 89.5
D [E| PE 1 76 77 35| 2200 257 169 152.1
i) A H 42 24 48 1 115 99| 116.2 1,328 1,077 1233
&t (E) 113 8 723 211 1,246 0 120 98 2,519 2,367| 106.4 | 31,836 24972 1275
ATAER A 5 (F) 106 8 978 149 998 88 40 2,367
W k. E/F %| 106.6 100.0 73.9 141.6 124.8 136.4 245.0 106.4
ai A & (G) 72 8 714 188 1,364 69 40 2,455
Mt E/G%| 156.9 100.0 101.3 112.2 91.3 173.9 245.0 102.6
LA DD B E (H) 1,126 120 10,578 2,181 16,633 932 266| 31,836
ARG (1) 811 132 8,747 1,613 12,805 713 151 24,972
F e H/T% 138.8 90.9 120.9 135.2 129.9 130.7 176.2 127.5




xS N =R G B (A= — )]

TRk24412 A
HOfE| E . i ;_f /J\ﬁélﬁlfﬁ /% i;é / jﬁtﬁé st () FIESEDE 1HMSDEE B

%f‘ irf 4 FA aar (A " o v o)
- (1) (2) (3) @ | 5.7 0, 9) HB) [ A/B % | A (C) iR (D)) €7D %
HAINY 0 6 0.0 48 68 70.6
BEHET 98 99 53| 186.8 1,158 868 133.4
EE5; 24 4 4 43 39| 1103 481 397  121.2
A H 9 151 234 64.5 3,466 3,453| 100.4
AN 52 1 15 91 75| 1213 946 689| 137.3
VA 42 3 66 46| 1435 1,145 805| 1422
=7 12 1 17 40 46 87.0 611 633 96.5
ZESTD 16 1 3 29 30 96.7 396 329 1204
H g 3 93 44 253 258 98.1 4,181 3,478 1202
AR 7 51 71 71.8 987 918 1075
=P 10 2 191 60 656 564 116.3 18,209| 13,396 135.9
UDKZ 77 A 7 10 13 76.9 112 127 88.2
D [E| PE 64 66 28| 2357 323 197 164.0
i) A H 49 13 105 77|  136.4 1,433 1,154 1242
&t (E) 112 8 501 143 81 1,660 1,540 107.8| 33496| 26512 126.3
ATAER A 5 (F) 84 513 159 35 1,540
M k. E/F %| 133.3 | #DIV/0! 97.7 89.9 231.4 107.8
ai A & (G) 113 8 723 211 98 2,519
Wt E/G% 99.1 100.0 69.3 67.8 82.7 65.9
LA DD B E (H) 1,238 128 11,079 2,324 347| 33,496
ARG (1) 895 132 9,260 1,772 186 26,512
F e H/T% 138.3 97.0 119.6 131.2 186.6 126.3




